
Tolerance ±1/32" unless otherwise specified Tolérance ±1/32" sauf spécification contraire

C
e
 
d
e
s
s
i
n
 
e
s
t
 
c
o
n
f
i
d
e
n
t
i
e
l
 
e
t
 
n
e
 
d
o
i
t
 
p
a
s
 
ê
t
r
e
 
r
e
p
r
o
d
u
i
t
 
o
u
 
u
t
i
l
i
s
é
 
s
a
n
s
 
l
e
 
c
o
n
s
e
n
t
e
m

e
n
t
 
d
e
 
E

X
M

T
h
i
s
 
d
r
a
w

i
n
g
 
i
s
 
c
o
n
f
i
d
e
n
t
i
a
l
 
a
n
d
 
m

u
s
t
 
n
o
t
 
b
e
 
r
e
p
r
o
d
u
c
e
d
 
o
r
 
u
s
e
d
 
w

i
t
h
o
u
t
 
t
h
e
 
c
o
n
s
e
n
t
 
o
f
 
E

X
M

C:\Vault_Workspace\Inventor_Dwg\Inv-1\1412T6404\1412T6404.idw

No. Revisions Date

By/Par

Rev.

Description

Material

Matière

Drawn By

Dessiné Par

Customer

Client

Color

Couleur

Part Number

Numéro Pièce

Detail Rev.

Projection

Flatness

Aplatissement

Max 3.0mm

Date

Date

Tél: (450) 979-4373

Fax: (450) 979-4626

Isometric View

Asa-61 Grey

BoxCad: ArthurC 20-Oct-20

0

 

 

 

 

 

 

 

 

1 

5 

1412T6404 Assembly

  

 

1412T6404

    

    

    

*
$
H
1
4
1
2
T
6
4
0
4
$
J
*

Finish

Fini

Smooth

16 Ga H.R.P. & O. (1.4mm)

www.exmweb.com

FRONT
BACK

BOTTOM

TOP

0
.
0
0
0

1
1
.
0
0
0

0
.
0
0
0

8
.
5
0
3

APPROVED FOR PRODUCTION
APPROUVÉ POUR PRODUCTION

SIGNATURE:
NAME / NOM:

DATE:
www.boxcadexm.comPlease visit:

0.000

72.000

LEFT RIGHT



5412 ESCH Accessory Kit3STK-K-029101

M6 x 8mm Hexagon/Slot Screw0STK-Q-032003

1412T6404 Inner Panel01412T6404IP1

Phillips Oval Head Screw M5 x 18.5 (Pitch 0.8mm)3.1STK-Q-030308

5412 ESSC M5 Countersink Insert (Flat Hole)0STK-Q-772808

1412T6404 Cover01412T6404C1

1412T6404 Body01412T6404B1

Parts List

DescriptionRev.Part NumberQty

Tolerance ±1/32" unless otherwise specified Tolérance ±1/32" sauf spécification contraire

C
e
 
d
e
s
s
i
n
 
e
s
t
 
c
o
n
f
i
d
e
n
t
i
e
l
 
e
t
 
n
e
 
d
o
i
t
 
p
a
s
 
ê
t
r
e
 
r
e
p
r
o
d
u
i
t
 
o
u
 
u
t
i
l
i
s
é
 
s
a
n
s
 
l
e
 
c
o
n
s
e
n
t
e
m

e
n
t
 
d
e
 
E

X
M

T
h
i
s
 
d
r
a
w

i
n
g
 
i
s
 
c
o
n
f
i
d
e
n
t
i
a
l
 
a
n
d
 
m

u
s
t
 
n
o
t
 
b
e
 
r
e
p
r
o
d
u
c
e
d
 
o
r
 
u
s
e
d
 
w

i
t
h
o
u
t
 
t
h
e
 
c
o
n
s
e
n
t
 
o
f
 
E

X
M

C:\Vault_Workspace\Inventor_Dwg\Inv-1\1412T6404\1412T6404.idw

No. Revisions Date

By/Par

Rev.

Description

Material

Matière

Drawn By

Dessiné Par

Customer

Client

Color

Couleur

Part Number

Numéro Pièce

Detail Rev.

Projection

Flatness

Aplatissement

Max 3.0mm

Date

Date

Tél: (450) 979-4373

Fax: (450) 979-4626

Isometric View

Asa-61 Grey

BoxCad: ArthurC 20-Oct-20

0

 

 

 

 

 

 

 

 

2 

5 

1412T6404 Assembly

  

 

1412T6404

    

    

    

*
$
H
1
4
1
2
T
6
4
0
4
$
J
*

Finish

Fini

Smooth

16 Ga H.R.P. & O. (1.4mm)

www.exmweb.com

NOTE

ITEM DESCRIPTION

1 NEMA/EEMAC 3R-4-12 Enclosure

2

C/W Standard ground standoffs on box and cover

3 W/O Standard door stiffener

4

C/W Inner panel

5

C/W Inner panel mounting standoffs

APPROVED FOR PRODUCTION
APPROUVÉ POUR PRODUCTION

SIGNATURE:
NAME / NOM:

DATE:
www.boxcadexm.comPlease visit:

View Without Cover



Powder Paint (Asa-61 Grey / Smooth)0STK-P-02400S1

Standoff M6 x 10mm5STANDOFF_M6 x 10mm4

M5 Nylon Insert Lock Nut1STK-Q-08100-41

M5 Nylon Insert Lock Nut1STK-Q-08100-33

M5 Nylon Insert Lock Nut1STK-Q-08100-21

M5 Nylon Insert Lock Nut1STK-Q-08100-11

1412T6404 Body Part01412T6404B-P1

5412 ESSC & ESSSC Stainless Steel Body Catch Assembly2DEV-STK-Q-704648

Parts List

DescriptionRev.Part NumberQty

Tolerance ±1/32" unless otherwise specified Tolérance ±1/32" sauf spécification contraire

C
e
 
d
e
s
s
i
n
 
e
s
t
 
c
o
n
f
i
d
e
n
t
i
e
l
 
e
t
 
n
e
 
d
o
i
t
 
p
a
s
 
ê
t
r
e
 
r
e
p
r
o
d
u
i
t
 
o
u
 
u
t
i
l
i
s
é
 
s
a
n
s
 
l
e
 
c
o
n
s
e
n
t
e
m

e
n
t
 
d
e
 
E

X
M

T
h
i
s
 
d
r
a
w

i
n
g
 
i
s
 
c
o
n
f
i
d
e
n
t
i
a
l
 
a
n
d
 
m

u
s
t
 
n
o
t
 
b
e
 
r
e
p
r
o
d
u
c
e
d
 
o
r
 
u
s
e
d
 
w

i
t
h
o
u
t
 
t
h
e
 
c
o
n
s
e
n
t
 
o
f
 
E

X
M

C:\Vault_Workspace\Inventor_Dwg\Inv-1\1412T6404\1412T6404.idw

No. Revisions Date

By/Par

Rev.

Description

Material

Matière

Drawn By

Dessiné Par

Customer

Client

Color

Couleur

Part Number

Numéro Pièce

Detail Rev.

Projection

Flatness

Aplatissement

Max 3.0mm

Date

Date

Tél: (450) 979-4373

Fax: (450) 979-4626

Isometric View

Asa-61 Grey

BoxCad: ArthurC 20-Oct-20

0

 

 

 

 

 

 

 

 

3 

5 

1412T6404 Body

  

 

1412T6404B

    

    

    

*
$
H
1
4
1
2
T
6
4
0
4
B
$
J
*

Finish

Fini

Smooth

16 Ga H.R.P. & O. (1.4mm)

www.exmweb.com

APPROVED FOR PRODUCTION
APPROUVÉ POUR PRODUCTION

SIGNATURE:
NAME / NOM:

DATE:
www.boxcadexm.comPlease visit:

FRONTBACK

BOTTOM

TOP

0
.
0
0
0

5
.
5
0
0

1
1
.
0
0
0

0
.
0
0
0

8
.
3
0
5

0.000

12.500

36.000

59.500

3x Standoff M6x10mm

9.750

7
0
.
7
5
0

0.625

0
.
6
2
5

0.3054x 

7.125

Standoff M6x10mm (Inside)

0.000

72.000

0.875



Powder Paint (Asa-61 Grey / Smooth)0STK-P-02400S1

3.5" x 2" Silver Milar Flexcon Sticker0STK-S-001001

Standoff M6 x 10mm5STANDOFF_M6 x 10mm1

1412T274 Gasket01412T274G1

1412T6404 Cover Part01412T6404C-P1

Parts List

DescriptionRev.Part NumberQty

Tolerance ±1/32" unless otherwise specified Tolérance ±1/32" sauf spécification contraire

C
e
 
d
e
s
s
i
n
 
e
s
t
 
c
o
n
f
i
d
e
n
t
i
e
l
 
e
t
 
n
e
 
d
o
i
t
 
p
a
s
 
ê
t
r
e
 
r
e
p
r
o
d
u
i
t
 
o
u
 
u
t
i
l
i
s
é
 
s
a
n
s
 
l
e
 
c
o
n
s
e
n
t
e
m

e
n
t
 
d
e
 
E

X
M

T
h
i
s
 
d
r
a
w

i
n
g
 
i
s
 
c
o
n
f
i
d
e
n
t
i
a
l
 
a
n
d
 
m

u
s
t
 
n
o
t
 
b
e
 
r
e
p
r
o
d
u
c
e
d
 
o
r
 
u
s
e
d
 
w

i
t
h
o
u
t
 
t
h
e
 
c
o
n
s
e
n
t
 
o
f
 
E

X
M

C:\Vault_Workspace\Inventor_Dwg\Inv-1\1412T6404\1412T6404.idw

No. Revisions Date

By/Par

Rev.

Description

Material

Matière

Drawn By

Dessiné Par

Customer

Client

Color

Couleur

Part Number

Numéro Pièce

Detail Rev.

Projection

Flatness

Aplatissement

Max 3.0mm

Date

Date

Tél: (450) 979-4373

Fax: (450) 979-4626

Isometric View

Asa-61 Grey

BoxCad: ArthurC 20-Oct-20

0

 

 

 

 

 

 

 

 

4 

5 

1412T6404 Cover

  

 

1412T6404C

    

    

    

*
$
H
1
4
1
2
T
6
4
0
4
C
$
J
*

Finish

Fini

Smooth

16 Ga H.R.P. & O. (1.4mm)

www.exmweb.com

APPROVED FOR PRODUCTION
APPROUVÉ POUR PRODUCTION

SIGNATURE:
NAME / NOM:

DATE:
www.boxcadexm.comPlease visit:

FRONT RIGHTLEFT

BACK

BOTTOM

TOP

0.000

72.126

0
.
0
0
0

1
1
.
1
3
4

0
.
0
0
0

0
.
6
5
6

1.208

1.192

Standoff M6x10mm

Label



DETAIL  C

1412T6404 Inner Panel01412T6404IP-P1

Parts List

DescriptionRev.Part NumberQty

C

Tolerance ±1/32" unless otherwise specified Tolérance ±1/32" sauf spécification contraire

C
e
 
d
e
s
s
i
n
 
e
s
t
 
c
o
n
f
i
d
e
n
t
i
e
l
 
e
t
 
n
e
 
d
o
i
t
 
p
a
s
 
ê
t
r
e
 
r
e
p
r
o
d
u
i
t
 
o
u
 
u
t
i
l
i
s
é
 
s
a
n
s
 
l
e
 
c
o
n
s
e
n
t
e
m

e
n
t
 
d
e
 
E

X
M

T
h
i
s
 
d
r
a
w

i
n
g
 
i
s
 
c
o
n
f
i
d
e
n
t
i
a
l
 
a
n
d
 
m

u
s
t
 
n
o
t
 
b
e
 
r
e
p
r
o
d
u
c
e
d
 
o
r
 
u
s
e
d
 
w

i
t
h
o
u
t
 
t
h
e
 
c
o
n
s
e
n
t
 
o
f
 
E

X
M

C:\Vault_Workspace\Inventor_Dwg\Inv-1\1412T6404\1412T6404.idw

No. Revisions Date

By/Par

Rev.

Description

Material

Matière

Drawn By

Dessiné Par

Customer

Client

Color

Couleur

Part Number

Numéro Pièce

Detail Rev.

Projection

Flatness

Aplatissement

Max 3.0mm

Date

Date

Tél: (450) 979-4373

Fax: (450) 979-4626

Isometric View

Unpainted

BoxCad: Patrick Deschênes 10/21/2020

0

 

 

 

 

 

 

 

 

5 

5 

1412T6404 Inner Panel

  

 

1412T6404IP

    

    

    

*
$
H
1
4
1
2
T
6
4
0
4
I
P
$
J
*

Finish

Fini

Galvanized

16 Ga Galvanized (1.4mm)

www.exmweb.com

APPROVED FOR PRODUCTION
APPROUVÉ POUR PRODUCTION

SIGNATURE:
NAME / NOM:

DATE:
www.boxcadexm.comPlease visit:

FRONT

TOP

RIGHT

0.000

48.000

0
.
0
0
0

3
.
1
2
5

0.000

0.312

1
4
.
4
0
0

1
4
.
4
0
0

1
4
.
4
0
0

115.0°

0.315

2.039

135.0°

0.118

135.0°

0.433

0.551

0.862

1.512

1.630

0.118

0.197

0.630

1.260


